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p=1:mr1 p=1:m1  mr1=p-n+1  pq=r(t-∆t)/(c*∆t) 

n=1:p  pq=1:p  m1=p-pq+1  r(n,mr1)=r(pq,m1) 

r(t-∆t)=r(r(t-∆t)/c)=r(r(t-∆t))/c r
2
(t-∆t)=r

2
(r(t-∆t)/c)= r
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(r(t-∆t))/c

2
 

( )
( ) ( )ii t t

rf
t t t t

m t
δ−∆

∆
− ∆ = ∆

∆
&

      
( ) ( )

M M M
i i i
M M M

i i it t t t t

r r r
t

r r H r H

•

−∆ −∆

     
∆ = −     ∆ ∆     & & &

 

 

2( ) ( )

M M
i i

M MM M
t t t ti it t t

I tIr r

A t A t Ir H r H−∆ −∆ −∆

∆    
=    ∆ ∆ +∆ ∆    & &

→ 

 

2( ) ( )−∆ −∆ −∆

∆    =    ∆ ∆ +∆ ∆    & &

M M
i i

M MM M
t t t ti it t t

I tIr r

A t A t Ir r
    

 

( )
2

( )
( )

( ) ( ( ) / )
ii t t i

rf Gr t t M
t t

m t r t t r r t t C
−∆

∆ − ∆ − ∆ = =  ∆ − ∆ − ∆ 

&

 

 

 


